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https://youtu.be/j1noKtJHH9Q
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. Study the figures and answer the questions that follow:

EE

\. a. How many bunch of ten leaves are there ?

b. How many leaves are there in each bunch ?

c. How many leaves are outside the bunch ?

d. How many leaves are there in all ?

e. How many leaves will 2 bunches have ?

2

How many bunch of ten leaves are there ?

A

How many leaves are there in each bunch ?

¢. How many leaves are outside the bunch ?

d. How many leaves are there in all ?

. How many leaves will 3 bunches have ?
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